StanleyBlack&Decker

SOPRADORASPIRADOR 600W 127V

Posicao Peca Referéncia Qtde Garantia da peca / Meses
1 5170011-08 | BICO DE SUCCAO 1 24
2 5170011-09 | ANEL TRAVA 1 12
3 5170011-10 | CARCACA ESQUERDA DAVENTOINHA| 1 12
4 5170011-11 | PARAFUSO 4X15.5mm 9 24
5 5170011-12 | PORCA M5 1 24
6 5170011-13 | VENTOINHA 1 24
9 5170011-16 | CARCACA DIREITA DAVENTOINHA 1 12
10 5170011-17 | PARAFUSO 4X22mm 4 24
11 5170011-18 | PINO 2X14mm 1 24
12 5170011-19 | ARRUELA 1X8.5X14mm 1 24
13 5170011-20 | ROLAMENTO DE ESFERAS608 2RS 1 12
15 5170011-23 | ROTOR 127V 1 24
16 5170011-24 | ROLAMENTO DE ESFERAS627 2RS 1 12
17 5170011-25 | PARAFUSO 4.5X38mm 1 24
18 5170011-27 | ESTATOR 127V 1 24
19 5170011-28 | EMPUNHADURA 1 12
20 5170011-29 | PARAFUSO 3X10mm 1 24
21 5170011-30 | INTERRUPTOR 1 24
22 5170011-33 | POTENCIOMETRO 127V 1 24
23 5170011-34 | PARAFUSO 4X12mm 1 24
24 5170011-35| PRESILHA DO CABOELETRICO 1 12
25 5170011-36 | PROTETOR DO CABOELETRICO 1 12
27 5170011-42 | CAIXA DE CAMPO 1 24
28 5140164-78 | ETIQ.ESPECIF.STPT600-BRTIPO 1 1 12
29 5170011-48 | ETIQUETA LOGOMARCA 1 12
30 5170011-49 | PORTA ESCOVA 2 24
31 5170011-50 | ESCOVA DE CARVAO 2 12
32 5170011-52 | TAMPA DO PORTA ESCOVA 2 24
33 5170011-53 | COLETOR DE PO 1 12




